eGSR (Zury) =T sl TETHT - 209
oFHT R 9Y a >e RAU9R 2092

TR 2012 Code : U01

BOOKLET No.

TR |

e st TR W ;100

%3:2(#0?1111 AR -1 B THU 0T ;200
LS e Sal '

7(1)wsrs=|gﬁaémmoa¢ﬁar&man%a ARl Tl IR fafva geam g @

, Hﬂgﬁﬁ%ﬂﬂémmﬁmmﬁﬁwmmwﬁ ma@amﬂﬁaﬂmmméf

T W Rf.
(2) YT SON-GhAIS w1 e ;T‘ N
7 famm sy e, 31 SRR : aed] 3

(3) o DI A A T IACaFha e S SeafaReicT GEIOT 9 e T wn.

(@) T TGO YE ST 4 W) IW qEtael agd W 1, 2, 3 S 4 SR FuE e
SRE. N AR IAH] Eid A S i I TETEN e Satafihet e S,
T FTSS SO, EVRICT WEG Wil P aerds e, S @ ymdR W s A

(5) Hd ¥l WA VP A, ATE e YV SR A, RS I SR AR A Qe Y
o ) A Y Hieaan. HAM TYE Sefan SaeRt R W ERT W eI e
e 9% o umfaal gée WeAse 9@, wmmmﬁmwm
Ufeedrd FI0 U TSR TTAIHE WAvl Weta 3 .

(6) ITRUFHA WG TIE dholel IW Wi AR A=, m%ﬁﬁm@@a‘ﬂﬁmm%mé
VIR AR

(7) S Y@ SAulEhTa Yedich SdM! SUGANTSHT JAUBRRAE qre g 7o fedt seer.
TAq “INEANT TGS FEIAlEl WIS TRl SE® WY Itubien T SHUE. e

W YymbEkaE smEne fafge wee as woiedd @ ayaqieen sweheTel Ao ongA R
Tigrega SHeaen TEwE avae 209m A9 oTR. ¥ 8% Waudd "et wygfadhd
W/ v, fear et uvAgRacdist SRl UV HIUER] @R SEE 3T IEgYe Sl
mwﬁ,mmmmwwmwmmmmm
“yligmel Qo v afEs sTaEEen sfafEn-s2"” IRt wEEER a8 seiee
mwmmaﬁaaﬁmmmmmmﬁnﬁm
T TS TR tehied Eurean fHd| a g

TR W AR R et S ST § ayiest ST e o g
TH WA AW B! S SRR SddiGgat, Taw ghgen wRgeggis! ot
wﬂﬁmwﬂﬁmmmmmﬂ%ﬁaaﬁwﬁﬂﬁ@wmﬁﬁ.

*i:.p*; -y I ENAT umﬁ*ﬂ-ﬂ‘ﬁﬁ‘ BATTET LE L B

e - - -

nﬁmqa&ﬁmi‘@ﬁ‘nmqﬂj

AR e P

[ R S

AT -

CESS v — e BRI T W

T T W ] S W o A F

L

e e AR T T U

LA e o T



= Y

2 e

A 3 uo1

1. In Residential building, kitchen should have aspect.
(1} Eastern (2) Southern (3) South-Eastern (4) Northern

2.  Workability of concrete can be measured by
(1) Slump test {(2) Compaction factor test
(3) Kelly ball test {4) All the above

8. For a rectangular room, better proportion is to adopt length as times
of breadth.

(1) 1tol2 () 1-2to 17 (3) 12tolb (4) 1-5to 1.7

4. The laboratory alump test result of the fresh concrete is between 25 — 50 mm. The
degree of workability of such concrete is

(1) very low (2) low - (3) medium (4) high

5. - Black cotton soil is a product of decomposition of
{1} Granite ) (2) Marble
{3} Basalt (4) Sandstone

6. The strength achieved by a brick depends on
(1) composition of brick earth {2) nature of moulding adopted
{3) burning and cooling process {4) All the above

7. Capacity of concrete to bear imposed stresses safely is called as
{1) Compressive strength (2) Shear strength
{3) Durability (4) Resistance

8.  State whether the following statements are true or false :

a. Consistency test is used to determine the percentage of water required for
preparing cement pasie.

b Vicat Apparatus ig used for determining t;h:e consistency of cefnent.
{1} a true, b true {2) afalse, b false
(3} a true, b false {4) a false, b true
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9.  Durability of construction material is
(1) Hesistance to crushing {2) Resistan<e to weathering
{3) . Shear strength {4) Compressive strength
10. Seasoning of timber means
(1) removing the meisture content {2) reducing weight of timber
(3) Both (1) and (2) {4) None of the above
11. is the quantity of fine aggregate required per 5{.) kg of cement of
M 160 — 1 : 2 : 4 grade of concrete.
(1) 0-340 kg (2) 0053 kg
{3) 00385 kg 4y 0070 kg
12. Artificial method of zeagoning timber is
{1) boiling (2) chemical seasoning
(3} water seasoning (4) All of the above
13. Laterite iz used in
(1) carving and ornamental works (2) fire resistance works
(3) electrical switchboards {4) heavy engineering works
14, In medium carbon steel, carbon content varies from
(1) 025% to 0-60% {2) 0-10% to 0-25%
(3) 0:60% to 0-75% (4) 0-75% to 1-00%
15, Light weight concrete ig alse known as
(1) low concrete (2) lean concrete
{3) transparent concrete (4) cellular concrete
16. The process of tempering is applied to steel in hardening process for improving

(1) duoetility (2) strength
{3) roughness (4) All of the above
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17. A cantilever beam ‘AC’ of uniform cross-section carries a uniformly distributed load
over the portion ‘AB’ of length ' a8 shown. Slope at free end ‘C’ will be.
w
A%moaa:’éam&h__c
P ! ——— if4 —f
wi® 5 wi 5wl wi?
1) — 2y — 3) — 4) —
W Fm @ SeEr ® wE @ ow
18. Shrirkage strain developed in post-tensionirig beam when prestressing force transfer
at the age of ¢’ days is
0.003 0.002 0-0085 0.001.
1) ———— @) —Q0 3 —— ) .
log,,{t +2) log, ,(t +2) log,,(t +2) log, (1 +1)
19. The_______ atanysectioninagivenbeamisequaito ___ ______ at corresponding
section in conjugate beam.
(1} slope, shear force - (2) deflection, shear force
(3) slope, bending moment (4) slope, deflection
'20. A beam of span L carries a U.D.L. of ‘W’ per m run and prestressing force in the
cable is ‘P’. What will be the eccentricity of parabolic cable at centre (i.e. dip) so as
to nullify the bending effect ?
3L 3wi? wi? wl?
I — 2 - — 4}
(? 3p @ 5P (B)- 8P @ 8P
A cast iron beam is a T-section as shown. It is supported and carrying a umiformly
distributed load, Which of the following is the correct bending stress distribution
diagram if the element is stressed perfectly within plastie limit ?
C | DR G B T
(8)
22. In pretenciened system, when prestressed forée iz transferred by releasing tendon,

the end of wire swella and develops wedge effect. At the end, prestressing force
becomes zero. This is known as
{1) Hoyer effect (2) Shear effect

{8) Wobbling effoct (4) Bursting effect
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23.

24.

6 A

‘Which part of the beam is subjected to pure bending in the following figure ?
20 kN 30 kN

A | -
B C

2m o+ Z2mm—F-1m

(1) AB

(2) BC

(3 CD
(4) No part of beam is subjected to pure bending

¥
Progressive increase in the inelastic deformation of concrete under sustained stress
component is known as

(1). Shrinkage of conerete ’ (2) Creep of concrete
{3} Deformation of concrete {4) Yielding of concrete

25'

Calculate the maximum stress acting on the cross-section of following element :
) 200 mm *

P, P P, /
P19 P2 To e > Py M 100 mn
—1m—f—Ii2m——1m—y Cross-section

Take P; = 45 kN, P, = 445 kN and P, = 130 kN.
(1) 20 N/mm? (2) 225 N/mm?> {38 2875 N/mm? {4) 65 N/mm?>

26.

What are the stresses developed at the top and bottem of a rectangular beam subjected
to prestressing force of 50 kN at a distance of 50 mm from bottom. The /s of beam is
100 x 100 mm.

(1) (5, 5) (2) (20, 10) (3) (5,10 (4) (10, )

217.

Af room temperature the rods are shown in figure. When temperature is raised, what
is the nature of stresses developed in each rod, if E,; < E_ and ayy > o ?

g________B
A7

03 m—p——1-25 m—7y
Aluminium Steel
dia = 20 mm dia = 10 mm
{1} Compressive in aluminium and steel
(2) Tensile in aluminium and steel
(3) Compressive in aluminium and tensile in steel
(4) “Tensile in alaminium and compressive in steel

C Supports are unyielding

ErLillifidd
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28. The prestressed conerete is considered. ag & combination of steel and concrete, with
steel taking tensile force passing through the tendon and concrete taking
compressive force passing through the C.G. of stress distribution se that the two
materials form a resisting couple to resist external moment. This concept is called
as
{1) strength concept (2) stress concept
(8) load balancing concept (4) moment eoncept
29. If AC is principal plane, then magnitude of principal tensile stresses will be
1= 15 MPa
f—— e .
B C
T
40 MPa
A
(1} 15 MPa (2) 5 MPa
(3) 45 MPa (4) Zero
30. In a post-tensioning system, high tension steel wires 5 mm to 8 mm diameter about

12 in number are arranged to form a group into a cable with a sPiral spﬂn.g ingide.
This system is known as '

(1) The Freyssinet System

(2) The Magnel Blaton System
(3) P.S.C. Monowire System
{4) C.C.L. Standard System
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31 A simply supported beam subjected to uniformly varying load of intensity W at left
end (A) reduces to zero at right end (B), Then slope at end B is

w3 avwnd - JR— , 3
1y WL @ WU @ S 4) VU
360 E1 360 EI 380 EI 360 EI

32. If a moment is applied to the hinged end of 2 prismatic propped cantilever, then the
moment at the fixed end will be
(1) M (2 M/f2 (3) M/3 4) M/4:

38. A single concentrated load W rolling over the beam of span L will cause the
maximum bending moment-and shear force on a section X at a distance x from left
support. When the load is on the section, its maximum bending moment will be
1) wxl2L-x) (2) wx (L-x)/L
(3) wxi(L-x)/1 (4) WL(L - x)/L

34. Maximum number of unknown forces that can be determined in eoncurrent foree
system under equilibrium is
(1) zero 2 2 - 38y 8 4 6

35. A beam fixed at one end and simply supported at the other end is carrying uniformly
distributed load of intensity ‘w throughout the span L. Then reaction at simply
supported end is

5 3 8 ; 3
1) - wL 2) = wL 3} = wL 4) — wlk
()Bw ()Bw ()5w ()2w

36. A two span continuous beam having equal spans each of length'! is subjected to
u.d.l. of w per unit run over the whole beam. The beam has constant EI. The
bending moment at the middle support is
(1) wi*/4 () wi%/8
@) w212 (4) wi%/16

37. A beam fixed at one end and free at the other end is subjected to U.D.L. of intensity

‘W’ over the entire span ‘L’. Then the deflection at free end will be
(1) wL%/8 EI @ wL3/3 El
{(3) wL%/8 EI @) wLY3 EI
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88. A two span continuous beam having equal spans each of length [ is subjected to
n.d). w per unit length. The beam has constant Ei. The reaction at the middle
support is
1) wi (2 5wif2 (8) 5wif4 4) 5wif8

89. A cable is supported at both ends at the same level and i3 subjected to U.D.L. over
the entire span. If y, is the central dip and 7’ is the span of a cable, then horizontal
thrust developed at the support is
(1) widfsy, @ wifsy, 3 wi¥/sy, @ wi*f2y,

40. U, and U, are the strain energies stored in a prismatic bar due to axial tensile
forces P; and P, respectively. The strain energy U stored in the same bar due to
combined action of P; and P, will be
1 U=0U,+0, 2) U=0,x0U,

(3) U<U1+U2 4 UsU,+U,

41. “The bending moment at any point of an arch axis is proportional to the vertical
intercept between the theoretical arch” is the statement of
(1) Mohr's theorem (2)" Eddy’s theorem
(3) Castigliano’s theorem (4) Theorem of least work

42. A'three-hinged symmetrical parabolic arch is subjected to a u.d.l. of w per unit run
over the whole span. Then tlie bending moment is zero at
{1} supports (2) quarter spans
(3) crown (4) All the three above

43. When one of the supports of a beam is at a lower level as compared to the other, it
will cause a moment at both ends. The magnitude of this moment introduced in
slope deflection equation is

3EI& 4 EI8 6EI8 2EI8
{ I= I {
44. A two-hinged parabolic arch is subjected to u.dl w over entire span. Then the

horizontal thrust is .
(1) wi/sh (2) wi%/ah
(3) wi%/6h {4) wi%/sh
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45. The distance between rivet centers measured along transverse to the direction of

force i
(1) Gauge (2) Pitch
(8) End distance (4) Maximum pitch

46. Determine the rivet value of 20 mm diameter rivets connecting 12 mm thick plate
if it is in single shear. Gross area of rivet is 363.05 mm2, permissible stresses in
shear and bearing are 80 MPa and 250 MPa respectively.

(1) 64-5 kN (2) 645 kN
{8) 20044 kN (4) 290-44 kN

47. The effective length of fillet weld of length 200 mm and size 12 mm is
{1y 188 mm (2) 176 mm {3) 388 mm (4 200 mm

48, The type of weld used for joining two surfaces approximately at right angles to each
other is known as

{1) DButt weld {2) U groove weld
{3) V groove weld (4) TFillet weld

49. The net effective cross-sectioned area of & single angle section connected by one leg
to the gusset plate is

3A 5BA 3A 5A
1 (2) 1 (3) 1 (4) 1

n —1 — 1 —L_ S
3A +A, BA 1A, 3A, -A, 5A -4,

80. The effective length of compression steel column of length ‘L’ which is effectively held
in position at both ends but not restrained against rotation is

(1) 065L {2) 08L (3) L (4) 15L

51. The axial force in each lacing in double lacing system is

\' V.
(1) 4ngin 8 @ 2nsin @

vV 2V
@) ngin @ . (4 nsind
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52. The beam is subjected to UD.L. of 41.25 kNim Effective span of beam is 8 m, Find
section modulus for the zectinon. Assume B = 185 MPa.
1) 2 x 10° mm® 2 2 x10° pm®
(3 25 x 10° mm® (4) 26 x 10° mm®
53. What is the effective leﬁgth of beéuﬁ if compression flange is restrained fully sgainst
lateral bending, as per IS 800 : 200 ?
(1 L (2 O08L (3) 085 L 4y 07TL
54. As per IS 800 : 1984, the thickness of slab base ia
2 2 12
W 3—’”[2-”7] (@) iw-;[“ h]
Ops Ohe 4 .
2 2
(3) Sw 32_.]:_’_ (4) 3w [a -1
Opg 4 Tpe 4
55, Intermediate vertical stiffners are required in plate girder when d/t_, ratic of the web
exceeds
(1) 85 {2) 80 {3) 80 (4) 75
56. In plate girder, flanges are designed. to “r_eBi-sil;
(1) Shear force {2) Bending moment
(3) Axial force (4) Torsional moment
§7. The flange splice in plate girder should be selected at
(1) maximum shear location (2) minimpm ghear location
(8) maximum moment location (4) minimum moment location
58. Structural members of the truss which are supperted on the principal rafter and

which run transverse to the truss are called
{1) Rafters (2) Purlins
(3) Sag tie (4) Struts
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59. The moment of resistance offered by balanced section in W.S.M. is given by
(As per 1S 456 — 2000)
1 a 1 2
(1) E.Gchc.b.x (2) E'G‘Cbc-b.d
g 1 b.d.(l~x3 g 1 b.x.(d-x
() E.Gcbc' - n(l"‘ ) () E'G;:bi:"'x'( - 3)
60. The compressive strength reguirements of 53 grade O.P.C., cement as per
IS 12269 — 1989 @ 3, 7 and 28 days in N/mm? are
(1) 33,43,53 {(2) 27,37, 53 (3) 833, 47, 53 (4) 27, 45, 53
61. In a tectangular beam of section b x d, subjected to ultimate torsional moment Tu,
equivalent ultimate shear can be given as
Tu Tu
) Vu+18,— 2) Vo+l6.-—
( ) w+ N (2) Vu bl
Tu Tu
3V 2. — 4} V —
) Ju + o 4y Vu+ P
62. Area of footing of an axially loaded column subjected to working load of 1000 kN
and safe bearing capacity of soil 250 kN/mp‘, is
1) 40 m? (@) 44 m (3) 60 m? (4) 55 m>
63. Minimum depth of foundation is calculated using Rankine’s formula in which § is

the angle of repose, a, is the safe bearing capacity and v is the unit weight of soil.
The value is

4y (1 + sin ¢ ¢ qp fl-‘UOStb\z
L | 2y —|——-

¥ \1-sing ¥ \L+cosd,
) 9 (1 -sing z w % 1+ cosg |

¥ L1+ sind ¥ {1~ cosd)
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64, If a retaining wall iz to be constructed to retain water of height ‘H’ and ‘W is unit
weight of water, then water pressure acting on retaining wall will be

(1 K wHf2 @ KwhH%/2

(3) wHZ/2 4y wH?

65. As per IS 456 : 2000, maximum bending’ mement at a support next to end support
of a three span continuous beam having each span ‘L’ subjected to U.D.L. in the
form of dead load (W) and live load (W, ) is given by

1 s 1 [ . 2 2

lwrzslwr 2 fwil+lwi
TR @ 3 BT

w2, w2 g, 1 2
@ TV W @ 12Wd1‘ 16 LU

66. Area of torsional reinforcement provided in a two-way slab at corners where both
edjacent edges are continuous is
3 + 3 + 3 +
(L 1 A x (2) 1 ALy (3) 3 A_x (4) 0

a8t

87. A singly reinforced rectangular section, b x d is effective o/, £ and fy are the
characteristic strengths of concrete and steel respectively. The depth of neutral axis
is calculated as

085, bd . 087, A, 0871, A, 087 A,
w e @ = 8 —— (4) ool
£, 0-36f, bd 0-381, hd? 0-36f, b

68. The maximum strain in steel at failure in limit state method of design is considered

a8
f v fy

M T35 0002 @ T3, + 0008
fy . 15 fy
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In case of simply supported beam subjected to U.D.L. w throughout the span which
develops’ maximum B.M. at the mid-span, the cracks formed during the failure of
beam at mid-span. are ’

{1) hotrizontal {2) inclined at 45°

(3) inclined at 60° (4) vertical

70.

In a slab cast monolithically with cantilever beam, the beam is above the slab so as
to give plain soffit. Then the beam is designed as

(1) Rectangular section (2) Flanged section

{8) Doubly reinforced section {4} None of the ahove

71,

The load carrying capacity of a circular column with helical reinforcement is how
much % more than that of column with lateral ties ?

(1) 5% (2) 10% (3) 15% (4} 20%

72‘

For the dealgn of a staircase, if R ig the riser, T iz the tread and D is the thickness
of waist slab, then the load of waist slab per m width of stair in plan will be

, /2 2
1) 25D % | @ 25D x|V +tE”
o ‘ T .

a
@) 25D x| — @) 25D x VT2 +RY
JT2 } B2 R
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73. There is a post-tensioned prestressed concrete beam with effective: simply supported
span of 8 m. This beam with rectangular cross section is prestressed with parabolic
cable with 200 kN force, having eccentricity 200 mm above neatral axis at mid-span
and 200 mm below it at support. The cable can be replaced by an equivalent effect
as
10 kN/m
(1) 40 kN-m
(2) 40 kN-m
(3 W 40 kN-m
10 kN/m
(4) gf’“l 40 KN-m
10 kN/m
74. Principal tensile stresses at any section and at any fiber in a presiressed concrete
beam are influenced by
(1) Horizontal prestress in concrete {2) Vertical prestress in concrete
(3) Shear stress in concrete {4) All of the shove
75. Effeciency of a rectangular prestressed concrete section with dimensions b = 0-5 d is
{1) bd (2) 0-5bd 8 05 {4) 0-338
76. Which of the following statements is/are true with reference to a load balancing

cable ?
Statement I The flexural stresses are uniform at any section throughout the
span at service stage.

Statement II : The flexural stresses are zero in the extreme fibers at any section
throughout the span at service stage.

Statement III :  The shear stresses are zero at any section throughout the span at
service stage.

(1) 1only (2) I and III only

{8) II and III only {4) None of these
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77. As per IS 1343 — 1980, loss of prestress in steel due to shrinkage in concrete in a
pre-tension beam is if B, =2 x 10° MPa.
(1) 60 MPa {2) 200 MPa
(3) 20 MPa {4) 0021 MPa

78, The net resultant stresses at bottom fiber of a section are zero means the resultant
thrust must be passing from
{1) extreme top fiber (2) neutral axis
{(3) upper kern point (4) lower kern point

79. In a post-tensioned prestressed concrete beam, jacking force is applied from one end
only. The lose of atresses in steel due to friction between steel and surrounding
material will be maximuam at
(1) Jacking end
(2) Mid span
{(3) Anchored end _
{4) Loss of stresses in steel due to friction is uniform throughout the span

80. Minimum strength of concrete at transfer (f,), to avoid cracking of extreme fiber at
a prestressed concrete beam with reference to limit state of servieability, maximum
compression in flexure should be
W 07 Ve @ 05 £y
@ 024 Vi @ f,

81. Vertical limits within which cable is to be provided in a post-tensioned prestressed
concrete elemerit is called as
(1) Anchorage zone {2) End block
(3) Transmission length zone (4) Safe cable zone

82. Minimum grade of concrete to be used for pre- and post-tension prestressed concrete

construction are
(1) M30 and M40 respectively {2) M30 in both cases
(3} M40 in both cases (4) M40 and M30 respectively
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83. The resist bursting tension, designed reinforcement is distributed in the zone of
from the loaded face of the end block, where 2y, is depth of equivalent prism.
{1) Oyo to 2y, (2) Oy, toy,
3} 02y, to 2y, : (4) 02y;toy,
B4. What is the correct order of imcrease in ultimate moment of resistdnce of
I.  Pre-tension section
I1. Post-tension bonded section
III. Post-tension unbonded seetion,
keeping all other parameters same.
(1) I, U and ITT (2) I ITandI
(3) II,IH and I (4) All sections will have same UMR
85. Deflection of a simply supported prestressed concrete beam of span 7 and flexural
rigidity ‘EF, due to a straight cable carrying prestressing force P and eccentricity
‘e’ below the neutral axis is
W 5Pel? @ Pel?
48 EI 8EI
Pol2 Pel’  5Pel?
(3 8 El 4 | 8EI 48 E1
86. A cantilever beam of span ‘L’ is supporting a udl of intensity ‘w’. Most suitable cable

profile will be

"7

0 gw parabolic cable profile
4
7

() f - parabolic-eable profile
1
.

(3) ; — parabolic cable profile.
y
q-

(4) 7 - —{ parabolic cable profile
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87.

18 A

The shorteoming of bar chart is
(1) lack of degree of details (2) activity inter-relationghip
(3) does not show progress of work {4) All the above

88.

Among the following, who is considered as the father of scientific management ?
{1) Max Weber {2) Henry Fayol
(3) F.W. Taylor (4) Elon Mayo

89,

Program Evaluation and Review Technique is us;ed when
(1)_ repetitive type of work exists
(2) time estimation is uncertain
(3) time estimation is very easy

(4) cost optimization is of prime importance

00,

Which of the following is the main contribution of scientific management ?
(1) A rational approach to solve organisation problem
(2) Development of principles of management

(3) Correlation between improved working conditions and high preduction
{4) All of the above

21,

The sequence to be followed while developing the network diagram is
a. defining objectives
b. sequencing the activities
breaking down the structure
d. developing the relation between events
(1) acbd (2 abed 3 adeb 4) ¢ ab,d

92,

In what way does ABC analysis help the manager ?
(1) To purchase material at low price {2) To exercise selective contrel
(8) To purchase material very fast (4) To 'select good quality material

93.

The optimistic time, pessimistic time and most likely time required for completion of
activity is 4, 11 and 6 days respectively. The expected time is

(1) 5 days (2) © days
(8) 55 days {4) &5 days

SPACE FOR ROUGH WORK

7 Engineering * Acadsmy

Downlooded From — www.infinitycivilacademy.com

— -



A 19 vo1
94, Which of the following is the formula for Economic Order Quantity if M is annual
demand, C, i8 ordering cost, C, is inventory carrying cost and S is unit price of an
item ?
EO [2MC 5 EO MC_ C,
(M C 2MS
c —
4] [ I
95. The optimistic time, pessimistic time and most likely time required for completion of
an activity is 4, 8 and 8 days respectively, The variance of time estimate is
(1) 0-4356 (2 0450 (3) 0400 (4) 0-500
98. Which of .the following Acts specially covers safety legislation of censtruction
industry in India ?
(1) Contract Labour Act
(2) Workmen's Compensation Act
(8) Inter State Migrant Workers Act
(4) There is no safety legislation oriented to construction industry
97, Most of the accidents in construction industry happen due to
{1) lack of education and training {(2) negligence and ignergnce
(3) Both (1) and (2} (4) None of the above
98. CPM network is
{1) Activity oriented (2) Event oriented
{3) Labour oriented {(4) Money oriented
99. The fire safety requirements of the building are desiéned as per

(1) IS 1645 - 1960 ‘ (2) IS 1256 - 1967
(3) 18 1647 — 1960 (4) IS 1646 — 1960

100, Optimum duration of project corresponds to which of the following ?

(1) Direct project cost (2) Indirect project cost
(8) Crash project cost {4) Tetal project cost
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